

KED & Co.

09/29/2023 08:00 AM | Install Day 1 09/30/2023 08:00 AM | Install Day 2 09/30/2023 04:00 PM | Event 09/30/2023 07:00 PM | Ceremony Strike 10/01/2023 08:00 AM | Strike All PO: Shipping Address: Beverly Hills Hotel Main Ballroom and Sunset Ballroom Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Ceremony - Gra	nd Lawn				
	Dining Chairs - Beverly Hills - Clear	165	\$22.00	Т	\$3,630.00
	Dining Chairs - Hollywood - Transparent	165	\$22.00	T	\$3,630.00
		Total Cere	remony - Grand Lawn		\$7,260.00
Cocktails					
	Perimeter Drape - TBD Color	1	\$8,500.00	Т	\$8,500.00
	Perimeter Valance - TBD Color	1	\$1,500.00	Т	\$1,500.00
	Chandelier Drape - TBD Color sheer only with swag openings	1	\$1,950.00	Т	\$1,950.00
	Custom 360 Escort Card Structure 96"D x 96"W x 96"H TBD details or Color Pricing guesstimated and subject to change based on final design	1	\$5,200.00	Т	\$5,200.00
	Bar Cover - BHills Hotel Existing Bar Facade TBD Color or Details	1	\$1,250.00	Т	\$1,250.00
	Madrid Sofa Rounded - Off White Boucle	3	\$500.00	Т	\$1,500.00
The state of the s	Coffee Tables - St. Tropez Faux Marble Irregular (Large)	3	\$250.00	Т	\$750.00
	Madrid Club Chair - Off White Boucle w. Wood Trim	6	\$225.00	Т	\$1,350.00
	Ottomans - Madrid Squared Boucle - Off White	6	\$85.00	Т	\$510.00

Description		Qtty	Price		Total
DI	Accent Table - St. Tropez (Large) Faux Marble Kidney	3	\$125.00	Т	\$375.00
			Total Cocktails		\$22,885.00
Ballroom - Rece	ption				
	Perimeter Drape - Emerald Green Velvet	1	\$12,500.00	Т	\$12,500.00
	Perimeter Valance - Emerald Green Dupioni	1	\$2,250.00	Т	\$2,250.00
	Stage Backdrop - Deco Fan gold deco style fans with black base 36"D base	4	\$850.00	Т	\$3,400.00
	Stage Front - Design TBD for a 32'W stage	1	\$3,200.00	Т	\$3,200.00
	Round Booth - Monaco White (2pcs)	8	\$600.00	T	\$4,800.00
	COVERS - Round Booth (2pcs) - Black Velvet	8	\$450.00	Т	\$3,600.00
	Chandeliers - Boston Tuxedo - PAINTED Gold with custom shade of white stripe	8	\$475.00	T	\$3,800.00
	Chandelier Hook 12'H and Box Base Hook covered in Emerald Green Ruching and Box painted TBD	8	\$175.00	T	\$1,400.00
	NEW Table Lamp - Style TBD w. Custom Lamp Shade price subject to change	8	\$400.00	Т	\$3,200.00
	Bora Bora Bar 8'W - Painted Frame w. Custom Green Inserts	2	\$1,450.00	Т	\$2,900.00
	Dining Chairs - Washington Gold Frame Back and Seat cushion Cover: Black Velvet paired with the booths	42	\$24.00	Т	\$1,008.00
	Dining Chairs - Frankfurt Boucle Round Black paired with the monaco round tables	102	\$26.00	T	\$2,652.00
	Dining Chairs - Nice Gold Frame - Black Cushion paired with the rectangle tables	140	\$24.00	T	\$3,360.00
	Dining Table - Las Vegas Mirror Top 8'x48"	13	\$500.00	T	\$6,500.00

Description		Qtty	Price		Total
	Dining Table - Monaco Round Brass Base 72"	11	\$450.00	Т	\$4,950.00
		Total Ballroom - Reception		ion	\$59,520.00
Sunset Room - A	After Party				
	Perimeter Drape - TBD Color	1	\$6,500.00	Т	\$6,500.00
	Perimeter Valance - TBD Color	1	\$1,500.00	Т	\$1,500.00
	Panels - Las Vegas Multi Mirror Brushed Silver for directly behind the main bar; client to provide table and linen for barback tables	4	\$750.00	Т	\$3,000.00
	Bars - Las Vegas Multi Mirror Silver	2	\$850.00	Т	\$1,700.00
	Oversize Props - Palm Leaves 02	2	\$600.00	Т	\$1,200.00
	Sofas - Pasadena Light Taupe Velvet	4	\$550.00	Т	\$2,200.00
	Coffee Tables - Frankfurt Glass Top w. Chrome Frame	4	\$250.00	T	\$1,000.00
	Pasadena Club Chair Light Taupe Velvet	4	\$250.00	Т	\$1,000.00
	Buenos Aires Club Chair Black Velvet w. Gold Frame	4	\$260.00	T	\$1,040.00
H	Tokyo Accent Chair - Black w. Gold Frame	8	\$85.00	T	\$680.00
	Hollywood Ottoman - Silver Base - Black Velvet	8	\$65.00	T	\$520.00
	Accent Table - Hollywood Face Gold	2	\$95.00	T	\$190.00
	Accent Table - Hollywood Face Silver	2	\$95.00	T	\$190.00
	Accent Table - Buenos Aires Acrylic & Gold	2	\$125.00	Т	\$250.00

Description		Qtty	Price	Total
	Accent Pillows	40	\$30.00	\$1,200.00
	Stand Up Tables - Buenos Aires Clear 14" x 14" x 43"H to be filled with balloons - CLIENT TO PROVIDE BALLOONS	8	\$250.00	\$2,000.00
	Barstools - Buenos Aires Gold Frame - Black Cushion	8	\$30.00	\$240.00
		Total Sunse	Total Sunset Room - After Party	
General				
			Total General	\$0.00
Services				
	Installers: Install FRiday	12	\$550.00	\$6,600.00
	Installers: Install Saturday	12	\$550.00	\$6,600.00
	Installers: Strike Ceremony	6	\$350.00	\$2,100.00
	Installers: Strike Sunday	12	\$450.00	\$5,400.00
	Trucking: 24'L	8	\$450.00	\$3,600.00
	Trucking: Fuel Surcharge	8	\$65.00	\$520.00
	Presentation: Revelry	1	\$1,650.00	\$1,650.00
	Pre / Post Production: Prep & Cleaning	1	\$4,500.00	\$4,500.00
	Manager: Onsite (2) Days	1	\$1,800.00	\$1,800.00
	Manager: Layouts, Design & Production Oversee	1	\$2,500.00	\$2,500.00
	Supplies: Misc	1	\$1,250.00	\$1,250.00
	Certificates: Flame Proofing	1	\$1,250.00	\$1,250.00
Please make ch	necks payable to Revelry, Inc.		Total Products:	\$114,075.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total La	abor/Services/Misc:	\$37,770.00
			Taxes:	\$11,228.53
Notes			Discounts:	(\$0.00)
NOTES			Total:	\$163,073.53
			Payments:	(\$0.00)
			Balance:	\$163,073.53